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I Mid Term examination
Session: 2017-18
B.Tech 11 Year CSE (IV Semester)
Subject with code: SPT

SET-B
MM 20

Jime: 7hrs
Attempt all questions
Q-1 Prove that Baye"s theorem !

OR

The first four moment in a certain probability distribution about the point 4 are -1.5, 17, -30 and 108. Calculate
3, B2, and state whether the distribution is lepto kurtic or platykurtic.

Q-2 If the life time of a component has probability density function Ae™. A> 0, t>0. compute its time to failure,

variance and failure rate function.

OR
Given the joint probability density .
floy)=  Hxe2y)  Oexel, O<y<l
0 Elsewhere

Find (1) marginal density of X and Y.

(2) Conditional density of X given Y=y.and useit to evaluate P(X < 1/2lY = 1/2).

Q-3 Show that for the exponential distribution given by dp=ae ““dx, and x lies between O to infinite, a beinga
constant, the mean standard deviation are equaltoc ..

OR
Find the probability mass function of a random variate x whose probability generating function is

242

TZhe-n at X=3.

Gx(2)=
0-4 Find the m.g.f of the random variable X whose p.m.f is given by
P(X=x) =1/8 c’.; x=0, 1, 2, 3 and then find p,' uz' !
OR

Define exponential distribution and its MGF, mean, variance, SD






